DISCRETE PROBABILITY
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Control structure in Scilab
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if condition then
process 1;
end
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if x>10 then it ii;gzt.hen
disp(x); N
end disp(y);
end
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If-Then-Else
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if condition then
process 1i;

else
process 2;

end
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if x > o then

disp(“this is positive number”);
else

disp(“this is negative number”);
end

For loop
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fori=1:10
process 1;
process 2;
end
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fact = 1; P
ac T 1; fori=1:20
for i=1:N if modulo(i,2) ~= o then
fact =fact * i; s=5s+i;
d
end e
end




Simple Simulation in Scilab: Dice function

*dice()

function [r]=dice()
r = 1+floor(rand(1)*6);
endfunction
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num_of_trials = 100;

pos_event = 0;

for i=1:num_of _trials
r = dice();
if r>4 then
pos_event = pos_event + 1;
end
end

prob = pos_event/num_of_trials




